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Mur.
IEEHRXR AR nE EX B
BAEE | RRKE | fEg | roomeees
signment, grades
borrow, , fine,
4 EBRER | WY f5GE) 4 rrow, returt, ine
renew, due, overdue
how much, price tag,
B —8 5t b [ Lok expensive, cheap
BE—THEAR 9= HEZF{E 14 V% | letter,address, postage
‘ . room,  reservation,
RS B =R fri check in,check out
k le, fine,
ANERE | sE | mmsEmm | Do e e fne
policeman
take off, flight, stew-
FE—HIZAR iy LB T L ardess
. headache, pain,
_ 2 A
WA—EE BB 2P B What’s the matter?
Excuse me, please,
RE—ERR AIRE ] how can I+, Will you

tell me-+-?
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PHRRERYRE SR SR A R A XTI SR, T H
A EWE B RS TR R LR R .
B : W: It's awfully dark for 4 o’clock. Do you think it’s going to rain?
M: You'd better do something about that watch of yours. It must have
stopped hours ago. Mine says 7.
l Q: What conclusion can we draw from this conversation?
A) Neither of their watches keeps good time.
! B) The woman’s watch stopped 3 hours ago.
C) The man’s watch goes too fast.
| D) It's too dark for the woman to read her watch. [ 0206 ,07]*
| [BR])B). HEE, W4 &7 R URE L3I R E— R
JU/NEHTRLASE T, RPN L 6% B) .

b RE R XU B B BB R 3 SRR . R
B B SR A AR 15 A A 0 O T L X B S P B TR TP IR B R T . X
LGS KA A R R AL ES LRRAERE.

a. Where does this conversation probably take place?
b. Where did it happen?

| c. Where is...?

d. What kind of store is she going to?

f#: M: Good morning, What can I do for you? i
W: I'd like to have my emergency brake fixed. The car rolls when I park

it on the hill.

Q: Where does the conversation most probably take place?
A) At a gas station. B) In a park.
() In an emergency room. D) At a garage.

(0106,10]
[(BE]ID), #HE, t BB +BE-THHNE2MNE, £F&
W ER A RES. FHIMRESR iﬂ@ﬁﬂﬂk)ﬁiﬁ%ﬁﬂ]ﬂﬂxﬁﬁ@%&@ﬂf
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W:I have a complaint to make, sir. | waited 10 minutes at the table be-
fore the waiter showed up, and when I finally got served, [ found it
was not what I ordered.

M:I'm terribly sorry, Ma'am. It has been unusually busy tonight. As a
compensation, your meal will be free.

Q: Where does the conversation most probably take place?

A) At the information desk B) In an office.
C) In a restaurant. D) At a railway station.
[0012,02]

[(BRIC) AT S E, EREEREIEN AP DI AR
SR ERHET RPN RIS A0 X817 waiter, serve, order, meal,
free FA[E W X R K EERIEN—BWIE, 83k O).

th BUT B &

F BUT BB AFFAE A3 — L ABT S B BB 8 UE A B8 1E
RROMHA: SR — R R ) F - M RRAR T OFRE R S KA TR
(] FH but 8. ORRREEL, 4 BE A B AT LA but RAKSEIRI 6 B
ARRRR. R PRX SRR o BUT MR & B B L PR 3R

VK

a. What do we learn from this conversation?

b. How does the man feel about his job?

c. What did the man do last night?

d. Why can’t Professor Hill answer her questions now?

i

W: I thought the librarian said we could check out as many books as we
need without a library card.
M: That's right, but not those reference books.
Q: What does the woman mean?
A) Students with a library card can check any book out.
B) Reference books are not allowed to be checked out.
() Only students with a library card can check out reference books.
D) The number of books a student can check out is unlimited.
(0006 ,10)

(BER] O B, Mhikh B 458 8 At , A FE 5 UES AT LA 5 BT
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TR LB HARRTER S 4. —IT 85X E, S B
FINGE R BUT B, R, AR BB AT ER S S .
T MEEXRE
R ER B LB EAT RN EEZRAIR X R, XX RERH
WEXR BTFXRREXR EEARANLR RESEEANKER, 7
PRI XRES . ¥ RaEREE .

What is the most probable relationship between the two speakers? J

. W Sorry [ didn’t come yesterday, because [ had a temperature. Could
you tell me your requirements for my term paper?
M:The theme of your paper can be about business management or touring

resources in China, and the length of your paper should be no less than

15 pages.
Q: What is the most probable relationship between the two speakers?
A) Manager and employee. B) Salesman and customer
C) Guide and tourist. D) Professor and student.

{0012,09)
[BRID), AFEEMIEFEXEE. L HiirERD T & =i sgek,
B HFME CEMER, BEEe e EE KERT SR, hka i,
RERIE LR,
EEKEE

HERANBR A A AEMAA S, ZRTRERFZARENEHINEE
SGEBTEE RS E WA B EEE. FRANRSEAR:

a. What does the man/woman mean?
b. What do we learn from the conversation?
c¢. What conclusion can we draw from the conversation?

#1 1:M: When we are supposed to submit our project proposals, Jane?
W: They’ll do by the end of the week. We've only 2 days left. We'll
just have to hurry.
Q: What does the woinan mean?
A) The deadline is drawing near.

B) She can’t meet the deadline.



() She turned in the proposals today.
D) They are two days ahead of time. [0201,07]
BERIA) . ABERBBANE., LR, RAILER TR, BHREIL, B
BERj AL B AR B T, MUE A) .
#12: W:We are informed that the 1130 train is late again.
M: Why did the railway company even bother to print a schedule?
Q: What do we learn from the conversation?
A) The company has trouble printing a schedule.
B) The speakers arrived at the station late.
C) The train seldom arrives on time.
D) The schedule has been misprinted. [0306,05 ]
(BR: O HEAE, LHEAXELHEHRSESE. B IR EEB.
ENARAE 2B A H 2 B o] HEBT Kk 2 B 80
FRERR ARTARN DB B SRS BERE .
BEW B KA 60% ~ 70 % Mty 55 8 THE 50 W5

NI KBYEHE ZEALS

— BB
PR T PR AR U R ) R A AR T A, R A
EEBERAER KE SEEN) MM S0 B HERE 0 58 R
L EER SCE% ., 1996 F 1 A 3 2003 4 6 A B HREREH SR 1S
HWTE:

% 2003 2002 2001 2000 | 1999 | 1998 | 1997 | 1996 | g B ]
& 612616126161616161§5I(Hf;J
B8 1 (1(oj2{0|oflol1|0}2]3|1{4]32]2]22]6.8
W8 1 /2)0) 1) 1 [1[Lj0]1|t|t[1]{0[2/0]/0[13 4
(HEBTRE) 7 10/ 810 11 |6 |8 11| 7]|717]6]|7|8]6|6[12539.1
@*ﬁ@s 701007 8 |11,10/6/10/6 9|8 |8|5|10 11134 42
HICAE| 0 |0j0|0| 0|10 1(O|t{1]|1|1]|1]10|3.5
HXE 3 2101 (L1 1]{0|3|0|3|0{1{1]|0|16] 5
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FREFEE SR EES B 2 KR FEEEMKER
B HEm S HA XEN P L ERREHNE . KR ERN XA

. What’s the main idea of the passage?

. With what topic/theme/subject is the passage mainly concerned?

. What is the passage mainly about?

. The passage deals mainly with ____ .

. Which of the following statements best sums up the whole passage?

The best summary of the passage is _

. What is the best/most appropriate title for the passage?

. The title that best expresses the idea of the passageis __ .
The author’s purpose in writing this passage is

TR o me o ar T

L

FER--BXEX A BIEREC, B H L E B ) (opic sentence)
A BTESCh . IR PR RS XX, Ty -BREAER
HMiETE EAWHRRRE, P BB RES A BRI, HoAf) 7 %f
FREFHATRLR Y REGEIE . MBI B LU XE LB R AL .

AT AR CREER A, AR WS THES R, TERRMLERLH
[, BEEEECE S, )R TR & B HIT K8 T Bl 14,
KREREFHE. HAMEXE D, EFEN LR TRRAIE R, ANEEER
FEITWAL, A e R S R AR R, 8 E) th Pl B FF sk airb ), A2
RXE HENEEHNZMAEXERE, A0 RE—0)iE, AR BT howey-
er,but ZISHIEEATIE 16 f5 o5 e Sh, B - B O Sk ER A R A i BRI A, X
MR EETEERE XENFERE.

MER, XEEH M ERERTRASER X FEWEAEE, 2R
BRmEHREL,

B : : Americans are people obsessed with child-rearing. In their books, maga-

zines, talk shows, parent training courses, White House conferences, and chats over

the back fence, they endlessly debate the best ways to raise children. Moreover,
Americans do more than dcbate their theories; they translate them into action.
They erect playgrounds for the youngsters’ pleasure, equip large schools for their e-
ducation,and train skilled specialists for their welfare. Whole industries in America
are devoted to making children happy, healthy and wise.

But this interest in childhood is relatively new. In fact, until verv recently
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people considered childhood just a grief, unimportant prelude to adulthood and the
real business of living. By and large, they either ignored children, beat them, or
fondled (% Y them carelessly, much as we would amuse ourselves with some little
dogs. When they gave serious thought to children at all, people either conceived of
them as miniature adults or as peculiar, unformed animals.

Through the ages the experiences of childhood have been as varied as its dura-
tion. Actions that would have provoked a beating in one era elicit extra loving care
in ancther. Babies who have been nurtured exclusively by their mothers in one
generation are left with day-care workers in another. In some places children have
been trained to get through dangerous mountain passes,and carry heavy objects on
their heads. In other places they have been taught complicated piano concerto(
3,

But diverse as it has been, childhood has one common experience at its core
and that is the social aspect of nurture. All children need adults to bring them up.
Because human young take so long to become independent, we think that civiliza-
tion may have grown up around the need to feed and protect them.

1. The main purpose of this passage is to___
A) show that Americans are overworried about child-nurturing
B) argue that children, though they are not adults,should be respected
C) propose that our civilization should center on children problems
D) call our attention to the social aspect of child-rearing
2. What is paragraph three mainly about?
A) Children’s experiences vary from place to place and from one period of time
to another.
B) Some children behaved badly but they received extra love.
C) Children are treated differently in different areas.
D) Children have quite dissimilar experiences in their childhood.

BAOKE ., LSO g iR FF - B il A 00 LK Y
BUR HEF R S W 0 LU i AR L, B BRI £ 05 e FLE SR
FIRER A2 At B, W BSISBE(RE—BO PR XEN T 5 RS
B F @A, . childhood has one common experience at its core and that is
the social aspect of nurture”, 5238, DYF RS | MM EHEE,

BIEMEROKE. BBEEUESFARHLEAN, BALEA
I AR X LB REBASTR ARG e A . B, X — BE i F B 3k
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REMNE. EIH A)RX LEREHE BAE A), ORRKEN—TE,
KZMWE, D)(ARIETHEFLHAR) AR CEHRA

AHESLEPAHL PSRN EB D, i EFRE TR b, FENA
FEEXINRE ) RB B, RS2 AT TEZHER. fFi
BERRIS B (B SR EHE— T UUR o6 EE N AERESE L T .

CHEENRR SER

EBEERFAER A O —H Y S0 s e . AR 23
BIRGE , % A AT SUE A 925 A e ol A & i R O 8 A TR Al
W) HEWEERIES . FRBRE LR

a. What is the author’s opinion?

b. What is the author’s attitude toward 7

c. What does the author think of _ 7

d. How does the author feel about 7

e. Which of the following can best describe the tone/style of the
passage?

5 Farewell, rutherfordium. So long, kurchatovium. All hail unnilquadrum!
The bland and faceless scientists at the International Union of Pure and Applied
Chemistry (ITUPAC) have decided that the names for all newly created elements
will be equally bland. No more will the creators of a new element be able to name
it after a famous scientist( lawrencium), city ( berkelium), or state( californium) .
Instead, the names of new elements will be systematically based on their atomic
numbers, beginning with element 104, which will henceforth be known as un-
nilquadium(un=1, nil=0, quad=4).

Some investigators are thankful that the committee has not been able to ex-
tend its influence into other areas of physics and biclogy. If it had, the quark might
be simply particle. By the same token, Legionaires’ diseases might simply be in-
fectious disease 203. Science might become orderly, but it would be a lot less in-
teresting.

1. What is the author’s attitude toward this new system for naming elements?
A) Indifferent B) Apparently approving
C) Hard to determine D) Slightly critical

2. How do investigators feel about the new system for naming elements?
A) Insulted B) Disapproving C) shocked D) Grateful
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3. Which of the following best describes the tone of the passage?

A) Furious and indignant B) Neutral and formal

C) Humorously critical D) Cautiously optimistic

MG —HiEE 1 EE A N H (¥4 44 77 A Fll (science might become or-

derly), (HBEIRAR K (a lot less interesting) , M ICHEW, fE & XM B A RITRE
] R RARERE, $1IEMERERNE D), BB -BRAAHNE, EBAE
ABEHEH i 24 T B RS AR, S R A IR B K i
(thankful) . BREEENIXH & EREATRM. 2 EF B) NIERE
W, AEH— kAt — sk ¥ 0 K & BRI Farewell”, “So long”, B E B
B, BRHEBE—SHNEEENARERSE 8RN, B 3IEEREED)
MR T .

& 1.7

EREE WERZ — BAMYSMMER . T B A X MR
BEATHINT HETREGRE ) . HERRO U T E LR, AR EOUEAT (B HEBE R 45
BARRHEAY, EANEHBICREE T SHEBETENERM L, o9
HE KR HREFAE. MEENER, MEER, BENTEEUTILA:

a. BENERERE RRES S, SR LR

b. FIFMEHSHE BN, L EHREH;
. BPERERRME,;
- ARFCIR R, A A] UL
. KNS ;
WIESFRE HHEE.
Refu) = —Hh

- A n

a. It can be inferred/concluded from the passage/paragraph that

b. We can infer/conclude/draw/see from the passage that

c. It is implied in the passage that .
d. Implied but not stated: .
e. Where would the passage most probably be found?

. Taking charge of yourself involves putting to rest some very prevalent
myths. At the top of the list is the notion that intelligence is measured by your abil-

ity to solve complex problems; to read, write and compute at certain levels;and to

9




B . A

resolve abstract equations quickly. This vision of intelligence asserts {formal educa-
tion and bookish excellence as the true measures of self-fulfillment. It encourages a
kind of intellectual prejudice that has brought with it some discouraging results. We
have come to believe that someone who has more educational merit badges, who is
very good at some form of school discipline is“intelligent. ”Yet mental hospitals are
filled with patients who have all of the properly lettered certificates. A truer indicg-
tor of intelligence is an effective, happy life lived each day and each present moment
of every day.

If you are happy. if vou live each moment for everything it’s worth, then you
are an intelligent person. Problem solving is a useful help to your happiness. but if
you know that given your inability to resolve a particular concern you can still
choose happiness for voursell,or at a minimum refuse 1o choose unhappiness, then
you are intelligent. You are intelligent because you have the ultimate weapon a-
gainst the big N. B. D. —Nervous Break Down.

“Intelligent” people do not have N. B. D. ’s because they are in charge of
themselves. They know how to choose happiness over depression, because they
know how to deal with the problems of their lives.

You can begin to think of yourself as truly intelligent on the basis of how you
choose 10 feel in the face of trying circumstances. The life struggles are pretty much
the same for each of us. Everyone who is involved with other human beings in any
social context has similar difficulties. Disagreements, conflicts and compromises are
apart of what it means o be human. Similarly, money, growing old, sickness,
deaths, natural disasters and accidents are all events which present problems to vir-
tually all human beings. But some people are able to make it, to &void immobilizing
depression and unhappiness despite such occurrences, while others collapse or have
an N.B. D. Those who recognize problems as a human condition and don’t measure
happiness by an absence of problems are the most intelligent kind of humans we
know ; also, the most rare.

27. 1t is implied in the passage that holding a university degree
A) muay result in one's inability to solve complex real-life problems
B) does not indicate onc's ability to write properly worded documents
() may make one mentally sick and physically weak
D) does not mean that one is highly intelligent [0012,27]
RSO — B GRSk, AR E S M EEIE R A O %
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B E DL AT ACRE Mo B B — S R DL 7 e B T BT D) £ 8
@MHE

BRTHECEREMANER. YR, EHERFIINHTETORE
BREAHEIEES . R, NS RAREEENE PR, |
B ERREL, A ER SR A R ER, A
I YT REAR R IR  LG B B SO RETE B W (skim) 00T 3 E R H LB
T E 0GB R HIE R R A IS MO B
KKATH B

o MEE ST ERN R SN, U T ILEFEEE:

* SERKEAR LK EEHITMAT, 036 518 AE TR EER
% RBITEE ST b LA for example, a case in point, the most important/
highest. . . , it is essential ¥1& 5 bpdio

Y FRINRK R E W because, since, as, so, therefore, hence, with
50, B S i BIE , as a result, consequently, give rise to, derive from, origi-
nate from, in that, MK H 9 S S SFHE/FS. aI502ZRAMER
FOHR R BREHE.

Yo FREEHTAT S 2 RV iRIE, 81 while, whereas, however, but, although,
vet, still, in fact, on the other hand, on the contrary, conversely %. BE#7 5
W IR F AT LR,

o I3 B AR (3 0 0B 2 B, AR 5 # BN “ Which of the following
is NOT truc” 2 M) g

3 : Predictions of large populations of robots in industry haven't got to come
true. The market {or big robots is now oversupplied, and the impetus of the
robotics revolution is claimed to be with makers of machines that handle a few kilos
at most.

“Heavy-robot manufacturers are in some difficulty in finding customers.
There has been a disappointing growth everywhere in the numbers of robots, so
we have 10 admit we are either deceiving ourselves or that the market is slow
growing, " said John Reekie, chairman of Colne Robotics. “The following things
must happen for the robotics revolution to occur. We must achieve widespread
robot literacy (% A~ HI3H ) ; just as there has been a computer literacy program,
there must be a robot literacy campaign. We must also achieve not just a cut in,
but a collapse of robot prices. Finally, some kind of artificial intelligence needs to
be available. ™
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Colne makes educational robots and machine tools. It is small compared with
companies like Unimation, ASEA, or Fujitsu Fanuc. But Colne and others—like
Pendar, which makes robots in Wales, and departments in universities—possess an
advantage over the giants. The big companies sell very expensive robots to busi-
nesses with expert knowledge in automaton. The little companies make robots for
teaching people, and now they have realized there is a need for small, low-cost
robots that they can meet.

The little companies either bring their educational machines up to an industri-
al standard or design from the very beginning. One technique that they all adopt is
to choose standard components where possible. The major cast of making both
their models is the electronics, which will fall in price.

L. The future market for robots belongs to
A) manufacturers that produce small robots
B) manufacturers that supply productive robots
C) makers of robots that weigh only a few kilos
D) makers of robots that will accelerate the robotics revolution
2. Which of the following is NOT relevant to the realization of the robotics revolu-
tion?
A) A campaign to educate people on knowledge of robots
B) Sharp reduction of prices
C) Easy access to artificial intelligence
D) Production of giant robots
3. To compete for a bigger slice of the market, small companies have to lower fur-
ther the cost of their products by
A) increasing the mechanical life of their robots
B) using more standard electronic parts
() increasing the varieties of low cost robots
D) limiting the size of educational robots

BN EEHY ARV AT R FIE REE B, LFL
Wy R RREGE FPLAS A HFT I R SE B, RRIAL R ATV K T oK, HEShHL 4%
NEMW BT /AR ANE T L AR,

52 DI R HEE, YEH TSI B John Reekie MIiE T, 15 R HL 2%
NEMB R FHH = robot literacy, collapse of robot prices, artificial intelli-
gence. 4 N EETR A D) REH PNEEBI, T D)t

]’7
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PIBEOEERLRE OFFIBE KT H B, /D24 550 o] bR R A
RIEE A — B DA F B EBE RIS AR B WL BRI, #
% b M TR R 70 ik SR A R T R bR L. B R EFEE,

T RICE

(RS 3 B WA A _E R SCHITHRLE 8 BRI S IR BRI & X
BIBES . TR RRREE b M SO AR X E RO R, W AR
A

a. The word “..." in line. .. means
b. The word “..."” in line. .. could best be replaced by .
¢. By “..." the author means

BONGIRIN: V2 R DGR AT IVE L ik A 1

OBiARY

EEWHERAE L, 8 X, — R R e R
BB BOG R A SCPEE 251 H1 5 55— B8 R e bR L 00 7 S B9

#1}:One important difference between bumble bees ( K ##) and honey bees

is that the former has a much longer tongue. It can fertilize plants which the hon-

ey bee’s tongue cannot even reach. It has been said that the bumble bees won the
Bore War! The horses that helped to win that war fed on clover( Z##), a plant
which only the bumble bees can fertilize. Without the bumble bees there would be
no clover.

What does the verb “fertilize” in paragraph three mean?

A) to make. . . productive B) to put fertilizer on

C) to make. . . grow faster D) to make. . . healthy

fertilizer(AE¥H) A5 WiA) , fertilize TR “MEAE" LB Z 4 WRBRHAS
BRABFH . B ETCE, B fentilize clover(— R FIEHIZ)  f# clover £ &
R SR T AL, ARG THRS . BHESSESRTEE
e R TR R T HE R, fertilize BUAD R - 328" {8 HEHE
NZE B ARERESR. B RECEHRN R,

Q% R

i) MEEGFAT . BFOA— B A A, kP R b
TXPHLRATER RN, 4 BN, RSB EM LR &
R, AHEHER, BAERBUAT ik

a FIREX BREEN




N Sttt St SRS e

PERVE R REN AR R TR BT S0, 0 T AT A, R —
AR RRIRIE E %, .

I would like your candid opinion, direct and truthful.

direct FI truthful J&XF candid M EZ L8, Ik, BT HEWT candid B “IHIK”
HEE.

b. MRS RN

FIRETERM XS TREOXR, B, THEN S E-L RN ABER,
in.

This kind of medicine is effective in curing carditis and other heart diseases.

WALTNZEEURRATT carditis (COHLK ) B heart disease( LR ) I—Fh

c. ML X RHER

Tom is quite talkative, whereas his sister remains reticent all the time.

i whereas B HIBT/G B4 4] B EAEXS, B reticent K% & talkative 1
SCEl . PR RTHER AR IR E T2 &

d. ¥ AR & mH0 R

FERIAR GEHHHERHERE R R R, i, iR AE AT
bene- B AR 4707 G dice BER“H, BEATFT I benediction & U IF i ikt
HHEWERIF S — S5l h B R 2, AR, M R PR HE Y i
X EERY, B ERFRA LT 368 Mg R L,

e. A LT HRHEXERR S XM

REFHHT , T CRE LR, A B BLe] 2 B R SRR XiF), X
MER B LR RS R LA IR R R, & B U HE R 452
i,

B : One day in 1935 the management of British Southern Railway announced

its intention to close the branch line from Lynton to Barnstaple in North Devon.
The proposal was received by the local inhabitants with angry protest. For them,
the locomotives and the stations of Devon had become as much of an institution as
the village church or tavern. Moreover, the line ran through the heart of a popular
tourist district. What would the holiday makers do without it? Closing down the
railway line had been unthinkable, yet now some busybody officials in remote Lon-
don was threatening to destroy it with a stroke of pen.

The word “busybody” most nearly means

A) efficient B) honorable C) meddlesome D) businessman

RBCCT IR E R B TEA BRI 1 B AT B R Bl — 4R % 23 8 ok il
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EXHERNEF EAEEEE XHRBE. IMETRIERRKE~E(a
stroke of pen) A1, Xt 24 #b i R AW B K . AFAAS—T , remote Fl with
a stroke of pen & AR HRIN S K X e BT 5 A B TE 0 3, BBk 4R AN S v i
IR 2 AERERE—~FEAZELBEROAE), SFENERBRAR
efficient(Z B H9) . honorable( FTEA{ ) | businessman (B A 3 &Y ) i & e £
ZE W, £l —2 (meddlesome) .

T EARENE

XFRERE, B, R R A AN R R AR P B AR B T .
XRAE—BEA U TR

W HXEFEEIHRK;

W iR T BOEEST A R, A5 R

W ERRRE LR U AR S X

WILHRET A

a. The sentence/expression “...” means/implies that
b. What does the sentence/expression “...” mean/indicate/suggest?

c. The sentence/expression “...” can be paraphrased as .

Wox RN, -EETERE X EY T ERBEN EBORERIEG. )
Bh, ANEREITARAC R F e 7 ) M, A AT BRI ) T 45 4 2 AT S IR T R 3L
RBATE X

B

The violence within a society is controlled through institutions of law. The
more developed a legal system becomes, the more society takes responsibility for
the discovery, control, and punishment of violent acts. In most tribal societies the
only means to deal with an act of violence is revenge. Each family group may have
the responsibility for personally carrying out judgment and punishment upon the
person who committed the offense. But in legal systems, the responsibility for re-
venge becomes depersonalized and diffused. The society assumes the responsibility
for protecting individuals from vicdlence. In cases where they cannot be protected,
the society is responsible for imposing punishment. In a state controlled legal sys-
tem, individuals are removed from the cycle of revenge motivated by acts of vio-
lence, and the state assumes responsibility for their protection.

[0206,33 )
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What does the author mean by saying “. . . in legal systems, the responsibili-

ty for revenge becomes depersonalized and diffused” (Lines 6 —7, Para.2)?

A) Legal systems greatly reduce the possibilities of physical violence.

B) Offenses against individuals are no longer judged on a personal basis.

C) Victims of violence find it more difficult to take revenge.

D) Punishment is not carried out directly by the individuals involved.

BED). BEXHWE, 18P H " revenge” B R VL HI BT, B 1T 57 B
% 79" punishment” . #R4E%E 2 G MBRE, ML XEAERF S ARBER S
RE JIGRNTHNIAL, TARMIFERS, URER. HILEWH,D)
HIEHHES .

=R BTG
R B A S R AT T REBHI R T 2%, T i
KM 4R — F — B A BT B

(—) EBERRESE

B mnEAmR, A0ER—8, BRARMFTE RARTHRHKZ
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EENAK

(1) M3 (skim) &3 FHARIL, BAMT L X, THRLENFEBREN
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FHMEHALERSKR BEFENEZHBERTRERR, Aot BB
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a. EEA) Higa;

b. FR BH R X RAYEIE K454

c. R KRG

d. e AT I

e. B
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